REMET#EE L=88. 1m

e / /// /
B ERQEAHE (HEA B300) L=86.3m .
EBRAEAHE (KA. +®MAB300) L=85.5m
| | \
\ \ \ \
\\ \ \ \ \
\ \ \
\ \ \\ \\ \
| |
| \
- | /
&I3 oz ' ‘ \
4. 46 had = o= / \
N & P
4.5 < KX ‘ \
4 | o . ~ 4,61 ‘
S 4.6 ] ! 4
|- - \ =
i Lol (el \\O
\ G &l 1l ' \|
\ o lo I\
Y \ g2 2l 11 W \
5 \
$ \l
. - =l J 5[\ \
. o 4. 63 1 o '% g ) o y © \\
4.49 3 ’ R \ /ﬂ
. o 4: . 474 = W\ 7 =
. 8
132 L33 -— / ;
139 140 e — L1 2 L \
. —eo— S S bt S S - Y 10 -
ig & = i i O ey s e s 17O Il 4 4
P g 50 R26 [ — I
0.60 R34 R35 _— NG
R36 R37 Ba\ Rp \ —_—
Als o < ‘
‘ . s - \ ‘
. ' i : %’v & \ ‘ ‘
4.5
' 4 “\ ‘ ‘
-
1 \asa
i |l N
\ i |
—T— e —— . \ ‘\
. : | )
— A by
o \
‘ : |,
v Lo | ‘
| ‘
! \
|

# Jﬁj - |
BB DRAEHE JBSOO) L=86. 2m B B %) & {61 i (ﬁﬁiﬁﬁﬁ%,:‘tgm B300) L=86.7m : “
| |
| |

B
- | [
r‘\‘\“\‘\‘ﬁ | |

|
| BES % 6 ® A 1 =
— | HETEARATERUATE
—_— - —_— R
o ‘ [ e S B FEE
| | B i R $=1:250
E AH
EREAA

1 &
3
RFTHMTEFRDERERR

(AL ABFHER - B x 50%)

|
|
/

*




CL=20. 00m,

CR=39216. 0|

Y=-0.0

0013x2

CL=20. 00m,

CR=7752. 0y

CL=20. 00m, VCR=972

Y=-0.0

0065x2

Y=+0.000514x2

# 6 ®H W 2 =

©
o
2

TETEAERHARRRISE

T

.

P-7
1A=0-36-03
R1=3820.000 TL=
Cl=_40.058 SL=

1P-8
1A=0-32-14
R1=-4270.000 TL=

CL=

40.041

SL=

B ®

K F T ER R R A0 E R B R R

(A3 1 BE#ER « BR x 50%)




BT E R

$=1:50

- . it & #
ﬁﬁ*ﬁms:rlo Wi BEIEBS M
: A 20 kn/h

REtE%AE T
__ TEEED AbeEE [ n
(TETEREHHFER) %

oy 280/ 0
RNHRE

40
B BEEAET AL

RBAHBER
BB BE)TyYr-57 (RC-30) RMENRME
R/MEEE
NO. 214438 L FREROT Y FITE
HeiE
HhlfE
MR R

<= BEEL RAL

. BAGIOE
e

&/IME

BN 2FELVME
B#RFE

BME
2FELLME
BERFOR
BAGHARE | EE@

# % it
B i 5 E A% /

HHEE0RE igEmE | B A @
CEBI
({6t 5t FAB300) (#6t B FAB300)

THERS N3 (40 L1007 &/B-HH)
8 %

(FEHED)
RE: BEFHETRI Y t=dem

HEHCBR

T A 5.9

WEMERE | FERERK
® B
BRER B+

BAE - BAYIyyr-7v (RC-30)  t=14cm

1.00
% # 0.25
i

TEHES
(TEREPRR)

x RBBEBHNETRIY

LR KSR RE (M-40)

é TERE EE’H‘J‘)’«—?‘/(RC—AO)?

B BB AL BS

L ——
]

YT EE

=

YAl —/R— L4
(3cm~ 4cm)

# 6 ®H W 3 =

TETEAERHARRRISE

K F T ER R R A0 E R B R R

(A3 1 BE#ER « BR x 50%)




EP (NO. 22+13. 780)
GH=5. 44
FH=5. 44

13.780

D=

" Al

AR L
HKT KiEY
BRL
7Oy | KIEY
BRL

1 Hl
BREREEL
#KT |KEY
BRL
70T [RIEY
BRL

Il
x B[ W4
[1.4=W=3.0

i
® B[ Wa.4
[1.4=w=3.0

-0 -uq

-n"-1q

AsHERE t=4cm

AR t=4cm

2.00% |_2.04%

A r FH=450

=20. 000
20. 000

D

D;

)
BT
#KkI [KEY
#RL
70T | RIEY
HRL

" Al

BT
HKT KiEY
#RL
7oy |KIEY
#ERL

[
x B[ W4
[1.4=W=3.0

ElE
£ B[ W4
[1.4=wW=3.0

F-n"-uq

F-n"-bq

AsHERE t=4cm

AR t=4cm

2.00% |_2.0Q%
S

® 6 # AW 4 5
TETEAERHARRRISE

HRHEE
8=1:100

20. 000
20. 000

D=

D;

K F T ER R R A0 E R B R R

(A3 1 BE#ER « BR x 50%)




B R A EC R HiE i I 4 X (10)

EAEE THER
$=1:20

it A 5 e ) B R 7 TEAEHAERAE
(FSL-B300) (FSR-B300)
B

avyy—+E

-— N -
SHER TER
FU4 EDTiE (mm) FU4 ZFHDTE (mm)
(BxH) cl e (BxH) H cl e
300 x_300 95 | 100 . 300 x_400 95| 100
300 x_400 % | 100 MEATIN 300 x_500 95 | 100
X X
| 300 x_500 95 | 100 : 3~ 300 x_600 95 | 100
300 x_600 95 100 300 x_700 95| 100

HEfgav s Y—+F HEBEaLyy—+
HBRE BHBRE

T B AR
(FSC-B300)

ZEBOTE (mm)
H cl e b1

300 x 1100

HEBEaLyy—+
HERR

TEBHE R
$=1:20

® 6 # AW 5 5
TETEAERHARRRISE

B B AR A ER
8=1:100

K F T ER R R A0 E R B R R




MNEE A
(SGW17)

T E X

$=1:100

g

s

B e 4 A2l % (B300)

o
S
o

B &
(A-ARAR)

6t T FA 5 e %) B2 481 i# (B300)

F1gH={ (1. 00+0.91) /2 x 2. 35+ (0. 91+0. 50) /2 x 3. 20} /5. 55=0. 81m

NEVE N R

NEE AR

W\

FIMEE  s-q:50

6k B A B9 e 0 ER (R
(B300)

2. 00%

V4. 81
&

!

I

$=1:20

s

310

( #AN500

HEBRERA
(RC-40)

10m Y

BoO®

H &

o ck=18N/mm2

3. 260

INELREE Y

17.160

RC-40, t=20cm

8.050

n /

RE: BEFWETZRIY t=3cm

B BAE)IvI1-72 (RC-30) t=10cm

BiAET GRAEL)

# 6 ®H MW 6 =

TETEAERHARRRISE

B i o ERAI#EER

$=1:100

K F HER R R AP E R R R




